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1 Beech M 15 1 3 9 5 6 Fair-leaning over car park Remove-dead wood
2 Oak M 15 0.6 4 9 3 5 Fair-leaning over car park Retain,clear out dead wood
3 Scots pine M 20 0.6 2 3 2 2 Good Clear brash to 10m.
4 Scots pine M 20 0.3 0 6 0 3 Poor-leaning over car park Fell Yr 1
5 Rowan M 8 1 0 7 5 1 Poor-over mature Coppice leaving suckered growth
6 Spruce M 20 0.4 3 4 3 4 Good Clear brash to 10m.
7 Beech S/M 15 0.3 6 6 6 6 Good None
8 Oak M 15 0.4 4 7 4 6 Fair-stag headed with some dead wood Remove dead wood
9 Spruce S/M 8 0.3 2 2 2 2 Good None

10 Scots pine M 15 0.45 2 2 3 1 Fair-bifurcated @ h't 5m Remove dead wood
11 Scots pine M / / / / / / Tree felled-stump remaining None
12 Beech M 15 0.75 4 5 5 5 Good-bifurcated at ground level Remove small branch rubbing against no 13
13 Oak M 15 0.75/0.60 5 5 4 5 Fair-bifurcated at ground level Remove dead wood
16 Beech J 7 0.25 3 5 4 4 Fair Remove basal branch & dead wood
14 Oak S/M 12 0.5 3 3 2 3 Fair-leaning slightly over highway None
15 Birch S/M 10 0.3 1 3 0 5 Fair-leaning slightly over highway None
17 Oak S/M 15 0.4 2 4 4 3 Fair-some dead wood Remove dead wood
18 Oak S/M 15 0.5 2 3 2 3 Fair-some dead wood Remove dead wood
19 Scots pine S/M 20 0.3 1 1 1 1 Fair-some dead wood Clear brash to 10m.
20 Scots pine M 20 0.5 4 1 2 1 Fair-some dead wood Clear brash to 10m.
21 Scots pine S/M 20 0.3 1 1 1 1 Poor-undeveloped crown Fell Yr 1
22 Scots pine M 20 0.5 1 2 0 3 Fair-unbalanced crown Clear brash to 10m.
23 Scots pine M 20 0.4 2 2 2 2 Fair-unbalanced crown Clear brash to 10m.
24 Oak M 20 0.7 3 4 3 4 Good Remove dead wood
25 Goat willow S/M 6 0.3 4 4 4 4 Fair-trifurcated at base None
26 Scots pine M 20 0.5 1 4 3 1 Fair-unbalanced crown Clear brash to 10m.
27 Rowan M 6 0.4 5 5 5 5 Fair-suckered growth None
28 Scots pine M 20 0.6 2 4 2 3 Good-bifurcated @ 8m Clear brash to 10m.
29 Scots pine M 20 0.6 1 4 2 2 Fair-crown unbalanced Clear brash to 10m.



30 Scots pine M 20 0.5 2 3 2 2 Fair-crown unbalanced Clear brash to 10m.
31 Beech M 15 0.6 4 3 3 5 Poor-fungal infection & dead wood Fell asap
32 Scots pine M 20 0.5 2 2 3 2 Good Clear brash to 10m.
33 Oak M 20 0.5 3 3 5 4 Fair Remove dead wood
34 Scots pine M 20 0.45 1 3 2 2 Good Clear brash to 10m.
35 Oak M 20 0.45 4 7 3 5 Fair-major limb leaning south Clear dead wood & rubbing branches
36 Scots pine M 20 0.4 2 2 1 2 Small crown Clear brash to 10m.
37 Scots pine M 20 0.4 0 4 2 3 Poor-unbalanced crown Fell Yrs1-3
38 Oak M 15 0.35 2 6 4 4 Poor-leaning Clear out dead wood
39 Scots pine M 20 0.4 1 3 3 1 Good Clear brash to 10m.
40 Oak S/M 25 0.25 1 5 5 2 Fair Clear out dead wood
41 Oak S/M 12 0.25 2 2 2 3 Fair Clear out dead wood
42 Scots pine M 20 0.5 1 3 1 3 Fair-root plate damaged by machinery Fell Yr1
43 Scots pine M 20 0.4 2 1 1 3 Fair Clear brash to 10m.
44 Scots pine M 20 0.4 0 3 1 3 Fair-unbalanced crown Clear brash to 10m.
45 Scots pine M 20 0.4 3 4 2 4 Fair Clear brash to 10m.
46 Scots pine M 20 0.5 1 2 3 2 Poor-fissured and decayed Fell Yr 1
47 Scots pine M 20 0.45 2 2 3 1 Good Clear brash to 10m.
48 Rowan M 10 0.3 3 3 3 3 Fair-suckered growth None
49 Alder M 8 0.2 2 2 2 2 Fair Remove dead wood
50 Alder M 15      0.4/0.5 2 5 2 3 Fair-bifurcated @1m &buttressed Remove dead wood
51 Scots pine M 20 0.45 2 2 1 1 Fair Clear brash to 10m.
52 Scots pine M 20 0.3 0 3 1 2 Poor-unbalanced crown Fell Yrs1-3
53 Scots pine M 20 0.45 3 4 2 4 Fair Clear brash to 10m.
54 Scots pine M 20 0.5 1 1 1 1 Poor-small crown Fell Yrs1-3
55 Scots pine M 20 0.3 1 4 2 2 Fair Clear brash to 10m.
56 Birch M 12 0.3 2 2 1 3 Fair None
57 Scots pine M 20 0.6 4 4 3 5 Good Clear brash to 10m.
58 Oak M 15 0.5 4 3 3 4 Fair Clear out dead wood
59 Rowan M 10 0.02 3 5 1 4 Poor Coppice leaving suckered growth
60 Spruce M 20 0.3 1 1 1 3 Poor-bark strangulated Fell Yr 1
61 Spruce M 20 0.25 1 1 1 1 Dead Remove Yr 1
62 Spruce M 35 0.9 4 4 4 5 Good-slight crown imbalance Clear brash to 10m.
63 Scots pine S/M 10 0.2 1 3 3 3 Good None
64 Spruce M / / / / / / Stump None
65 D' fir M 35 0.7 3 3 3 3 Good Clear brash to 10m.



66 Holly M 15      0.4/0.4 6 5 2 5 Fair-bifurcated @ base Clear out dead wood
67 Scots pine M 20 0.55 2 2 0 4 Fair-leaning West Clear brash to 10m.& remove leaning limb
68 Spruce M 35 0.6 3 3 2 4 Good None
69 Scots pine M 25 0.5 2 2 2 2 Fair None
70 Spruce M 35 0.4 3 3 3 3 Good Clear brash to 10m.
71 Spruce M 35 0.35 2 2 3 4 Good Clear brash to 10m.
72 Spruce M 35 0.45 3 4 4 3 Good Clear brash to 10m.
73 Spruce M 35 0.65 4 4 4 4 Good Clear brash to 10m.
74 Spruce M 35 0.5 2 5 5 2 Good Clear brash to 10m.
75 Spruce M 35 0.45 4 2 1 3 Good Clear brash to 10m.
76 Spruce M 35 0.4 / / / / Dead Remove Yr 1
77 Spruce M 35 0.3 3 1 2 2 Good Clear brash to 10m.
78 Scots pine M 18 0.3 2 1 1 2 Good None
79 Birch M 15 0.35 3 2 1 5 Good None

80a Spruce M 35 0.5 2 3 4 3 Poor-leaning Fell asap
80 Spruce M 35 0.5 3 2 4 3 Good Clear brash to 10m.
81 Spruce M 35 0.7 4 4 5 3 Good Clear brash to 10m.
82 Spruce M 35 0.5 2 3 3 4 Fair Clear brash to 10m.
83 Spruce M 35 0.3 1 1 1 1 Poor-leaning Fell Yr 1
84 Scots pine M 20 0.25 3 1 2 1 Poor-etiolated & sparse crown Fell Yr 1
85 Scots pine M 20 0.3 3 2 3 2 Fair None
86 Scots pine M 20 0.03 3 3 3 2 Fair None
87 Scots pine M 20 0.3 2 1 1 2 Fair None
88 Scots pine M 20 0.25 1 2 2 1 Poor-sparse crown Fell Yr 1
89 Scots pine M 20 0.3 2 1 1 1 Fair None
90 Scots pine M 20 0.25 2 1 3 2 Poor-unbalanced crown Fell Yr 1
91 Scots pine M 20 0.35 3 2 2 2 Fair None
92 Scots pine M 20 0.3 3 3 3 3 Fair Clear brash to 10m.
93 Scots pine M 20 0.5 3 3 3 3 Good Clear brash to 10m.
94 Scots pine M 20 0.4 4 2 2 4 Fair Clear brash to 10m.
95 Scots pine M 20 0.3 3 2 3 2 Fair None
96 Scots pine M 20 0.3 3 2 2 2 Fair None
97 Scots pine M 20 0.3 2 1 1 1 Poor-etiolated & sparse crown None
98 Scots pine M 20 0.3 2 1 1 1 Poor-etiolated & sparse crown None
99 Scots pine M 20 0.45 3 3 3 2 Fair-bifurcated @ 5m Clear brash to 10m.

## Scots pine M 20 0.4 1 3 2 2 Fair Clear brash to 10m.



101 Spruce M 35 0.5 3 3 3 2 Good None
102 Scots pine M 20 0.3 1 1 1 1 Poor-undeveloped crown Clear brash to 10m.
103 Scots pine M 20 0.4 4 4 3 3 Fair Clear brash to 10m.
104 Scots pine M 20 0.3 1 3 2 1 Fair-bifurcated @ 5m Clear brash to 10m.
105 Sycamore M 20 0.4 5 5 3 4 Poor-bifurcated @ base Remove smallest lowest branch
106 Scots pine M 20 0.4 1 1 1 1 Fair None
107 Scots pine M 20 0.35 1 1 1 1 Fair None
108 Scots pine M 20 0.3 2 2 2 3 Fair Clear brash to 10m.
109 Scots pine M 20 0.3 1 1 1 3 Fair-leaning slightly Clear brash to 10m.
110 Scots pine M 20 0.4 1 3 3 3 Fair Clear brash to 10m.
111 Scots pine M 20 0.4 0 2 2 2 Poor-unbalanced crown Fell Yrs1-2
112 Scots pine M 20 0.3 1 2 2 2 Fair Clear brash to 10m.
113 Scots pine M 20 0.45 2 2 2 2 Fair Clear brash to 10m.&lowest branch on west
114 Scots pine M 20 0.25 1 1 1 1 Poor-leaning Fell Yr2
115 Scots pine M 20 0.6 3 2 3 2 Fair Clear brash to 10m.
116 Birch M 8 0.4 3 2 3 2 Fair-leaning None
117 Birch M 8 0.4 3 3 3 2 Poor-decay in trunk None
## Scots pine M 5 / / / / / Dead Remove Yr3
119 Birch M 8 0.35 3 2 2 2 Fair None
120 Birch M 8 0.2 2 1 1 1 Fair None
121 Scots pine M 20 0.5 1 3 3 1 Fair Clear brash to 10m.
122 Birch M 6 0.1 1 1 1 2 Poor None
123 Scots pine M 15 0.4 3 3 2 3 Good Clear brash to 10m.
124 Birch M 5 0.1 1 1 1 1 Poor None
125 Birch M 10 0.3 3 3 3 2 Fair None
126 Birch M 8 0.2 3 2 3 3 Fair None
127 Birch M 8 0.2 3 1 5 1 Fair-bifurcated @ base None
128 Birch M 8 0.3 2 1 2 3 Fair-bifurcated @ base None
129 Scots pine M 15 0.4 3 5 5 2 Fair Clear brash to 10m.
130 Scots pine M 20 0.4 3 3 3 3 Fair Clear brash to 10m.
131 Scots pine M 20 0.4 2 2 2 3 Fair Clear brash to 10m.
132 Scots pine M 20 0.4 3 2 2 3 Fair Clear brash to 10m.
133 Scots pine M 25 0.4 3 5 3 3 Good Clear brash to 10m.
## Scots pine M 20 0.4 1 3 1 3 Poor-leaning Fell Yr 2
135 Birch M 6 0.1 1 1 1 1 Fair None
136 Birch M 8 0.2 1 1 1 1 Poor None



137 Birch M 8 0.2 1 1 1 2 Fair None
138 Rowan M 10      0.2/0.1 2 1 2 1 Fair-bifurcated @ base None
139 Birch M 8 0.1 1 1 1 1 Fair None
140 Birch M 8 0.1 1 1 1 2 Fair None
141 Scots pine M 20 0.3 1 2 1 1 Fair-undeveloped crown Clear brash to 10m.
142 Scots pine M 20 0.3 1 1 1 2 Fair Clear brash to 10m.
143 Scots pine M 20 0.4 1 2 2 3 Fair Clear brash to 10m.
## Birch M / / / / / / Dead Remove
145 Oak J 12 0.15 2 3 2 2 Good Remove low branch on west & crossing pine br
146 Birch M 8 0.2 1 3 2 1 Fair None
147 Scots pine M 20 0.3 2 2 2 2 Fair -considerable dead wood Clear brash to 10m.& remove dead wood
148 Scots pine M 20 0.3 3 3 1 3 Fair-bifurcated @ 5m &dead wood Clear brash to 10m.& remove dead wood
149 Birch M 15 0.25 1 3 2 1 Fair None
150 Birch M 12 0.4 4 4 2 2 Good None
151 Birch M 8 0.2 1 1 1 1 Poor None
152 Birch M 8 0.1 1 1 1 1 Poor None
153 Rowan S/M 8 0.1 3 1 1 2 Good None
154 Birch M 8 0.2 1 1 1 2 Fair-some dead wood None
155 Birch M 8 0.2 1 1 1 1 Fair-some dead wood None
156 Scots pine M 15 0.4 3 4 4 5 Good Clear brash to 10m.& lowest 3 w'side branches
157 Rowan M 7 0.2 1 2 3 1 Fair-bifurcated @ base None
158 Birch M 8 0.2 3 2 4 1 Fair-some dead wood None
159 Birch M 12 0.15 2 1 1 1 Poor None
160 Scots pine M 15 0.55 4 2 4 2 Fair-trifurcated @5m Clear brash & dead branches to 10m.
161 Scots pine M 15 0.3 1 2 1 1 Fair clear brash to 10m.& remove Northern limb
162 Scots pine M 15 0.3 1 1 1 1 Fair Clear brash to 10m.
163 Scots pine M 15 0.45 2 3 1 2 Fair Clear brash to 10m.
164 Scots pine M 15 0.3 1 1 1 2 Fair Clear brash to 10m.
165 Holly S/M 3 0.15 2 2 2 1 Fair None
166 Birch M 8 0.25 2 2 3 1 Poor None
167 Scots pine M 20 0.45 3 2 3 1 Fair-leaning South Clear brash to 10m.
## Scots pine M 20 0.5 4 2 4 4 Fair-bifurcated @ 10m Clear brash to 10m.
## Scots pine M 20 0.4 2 2 4 4 Poor-leaning Fell Yr 2
## Birch M 2 / / / / / Dead None
171 Birch M 6 0.1 3 3 2 2 Fair None
172 Rowan M 6 0.1 2 2 2 1 Good None



173 Birch M 5 0.1 1 2 2 1 Poor Remove rubbing branch
174 Birch M 5 0.2 2 2 2 2 Poor None
## Scots pine M 15 0.25 0 1 0 0 Poor Fell Yr2-3
176 Scots pine M 20 0.35 2 3 3 1 Fair Clear brash to 10m.
## Scots pine M 20 0.35 1 2 1 3 Fair-bifurcated @ 8m Clear brash to 10m.
178 Birch M 5 0.3 3 2 3 3 Fair None
179 Birch M 5 0.1 1 4 3 1 Fair None
## Birch M 3 / / / / / Dead None
181 Oak J 4 0.2 4 2 4 3 Poor None
182 Beech S/M 7 0.25 6 5 6 6 Fair Clean out dead wood. Remove Oak @ base
183 Scots pine M 20 0.45 4 3 3 4 Fair-bifurcated  2m Clear brash to 10m.
184 Scots pine M 20 0.35 4 1 3 1 Poor-unbalanced crown clear brash to 10m.Remove dead basal branch
185 Scots pine M 20 0.3 4 1 1 2 Poor-unbalanced crown Clear brash to 10m.
186 Scots pine M 25 0.3 3 1 2 2 Fair Clear brash to 10m.
## Scots pine M 20 0.25 1 1 1 1 Poor-undeveloped crown Fell Yr3
188 Scots pine M 25 0.5 5 2 3 4 Fair Clear brash to 10m.
## Scots pine M 25 0.3 1 3 1 2 Poor-undeveloped crown Fell Yr3
190 Scots pine M 25 0.3 2 2 2 1 Fair Clear brash to 10m.
## Scots pine M 15 0.25 0 3 0 0 Poor-undeveloped crown Fell Yr3
192 Scots pine M 25 0.35 2 3 2 2 Fair-bifurcated @ 8m None
193 Scots pine M 25 0.4 2 4 1 4 Poor Clear brash to 10m.
194 Scots pine M 25 0.3 2 3 1 2 Poor Clear brash to 10m.
195 Scots pine M 25 0.4 2 4 2 4 Fair-trifurcated @ 8m Clear fallen tree from trunk
196 Scots pine M 25 0.3 4 2 2 2 Poor Clear brash to 10m.
## Scots pine M 25 0.3 3 2 2 3 Dead Remove
## Scots pine M 25 / / / / / Dead-fallen Clear where rubbing adjacent tree
199 Scots pine M 25 0.3 3 2 1 2 Poor Clear brash to 10m.
## Scots pine M 25 / / / / / Dead None
201 Scots pine M 25 0.3 3 2 2 2 Fair Clear brash to 10m.
202 Scots pine M 25 0.35 1 2 1 1 Fair Clear brash to 10m.
203 Scots pine M 25 0.3 1 3 1 3 Fair Clear brash to 10m.
## Scots pine M / / / / / / Dead None
205 Scots pine M 25 0.5 3 3 2 4 Fair-bifurcated @ 8m Clear brash to 10m.
206 Scots pine M 25 0.45 5 1 1 6 Fair Clear brash to 10m.
## Scots pine M 25 0.3 0 1 1 1 Poor-undeveloped crown Fell Yr3
## Scots pine M 25 0.3 3 1 0 3 Poor-undeveloped crown Fell Yr3



## Scots pine / / / / / / / Dead None
210 Scots pine M 25 0.5 4 2 2 3 Fair Clear brash to 10m.
## Scots pine M 25 0.3 1 1 1 2 Poor-undeveloped crown Fell Yr3
212 Scots pine M 25 0.3 3 1 1 1 Poor-undeveloped crown Clear brash to 10m.
213 Scots pine M 25 0.4 3 4 2 3 Fair Clear brash to 10m.
214 Scots pine M 25 0.45 5 4 4 4 Fair Clear brash to 10m.
## Scots pine M 25 0.2 2 1 1 1 Poor-leaning Fell Yr 1
216 Spruce 30 0.65 4 7 5 6 Good Clear brash to 10m.
## Scots pine / / / / / / / Dead-fallen None
## Spruce / / / / / / / Dead-stump remaining None
## Scots pine / / / / / / / Dead-fallen None
## Scots pine / / / / / / / Dead-fallen None
## Birch M 7 0.2 3 2 2 3 Poor-decayed Fell Yr3
222 Scots pine M 25 0.5 4 2 2 3 Fair-bifurcated @ 3m Clear brash to 10m.
## Scots pine M 20 0.2 0 1 1 1 Poor-etiolated & sparse crown Fell Yr3
## Scots pine M 25 0.2 1 0 1 2 Poor-etiolated & sparse crown Fell Yr3
225 Scots pine M 25 0.3 2 1 1 1 Poor-undeveloped crown Remove dead branch
## Scots pine M 25 / / / / / Dead Remove
227 Scots pine M 25 0.35 3 3 3 3 Fair-branched @ 1mg Remove dead wood
228 Scots pine M 25 0.4 3 3 2 3 Good Clear brash to 10m.
229 Scots pine M 25 0.4 4 3 4 2 Fair Clear brash to 10m.
230 Scots pine M 25 0.4 3 4 3 4 Good Clear brash to 10m.
## Scots pine M 25 0.3 1 1 1 1 Poor-undeveloped crown Fell Yr3
232 Scots pine M 25 0.3 2 1 1 4 Fair Clear brash to 10m.
## Scots pine M 25 0.25 0 2 0 0 Poor-undeveloped crown Fell Yr3
234 Scots pine M 25 0.45 5 3 3 3 Fair Clear brash to 10m.
235 Scots pine M 25 0.5 5 2 2 3 Fair Clear brash to 10m.
236 Scots pine M 25 0.3 4 1 3 2 Fair Clear brash to 10m.
237 Scots pine M 25 0.5 5 5 2 2 Fair-branched @ 4m
238 Scots pine M 25 0.4 3 1 2 4 Fair-branched @3m Clear brash to 10m.
239 Scots pine M 25 0.4 3 1 1 3 Fair Clear brash to 10m.
240 Scots pine M 25 0.55 4 3 2 4 Fair-branched @ 3 & 5m Clear brash to 10m.
241 Scots pine M 25 0.25 5 2 1 4 Fair Clear brash to 10m.
242 Scots pine M 25 0.45 4 3 2 4 Good Clear brash to 10m.
243 Scots pine M 25 0.25 2 2 2 2 Poor-etiolated & sparse crown None
## Scots pine M 25 0.5 6 3 3 5 Fair-branched @ 3m Clear brash to 10m.



245 Spruce M 30 0.5 5 3 4 4 Good None
246 Spruce M 30 0.4 3 1 2 4 Fair Clear brash to 10m.
247 Scots pine M 30 0.65 5 7 4 7 Good Clear brash to 10m.
248 Spruce M 30 0.3 2 2 3 2 Fair None
249 Spruce M 30 0.6 3 5 4 5 Good None
250 Birch M 15 0.3 2 1 2 2 Fair-some decay None
251 Spruce M 30 0.4 2 4 2 4 Good None
252 Spruce M 30 0.4 5 2 5 2 Fair Clear brash to 10m.
253 Spruce M 30 0.6 6 3 4 4 Good None
254 Spruce M 30 0.4 0 4 4 1 Poor-unbalanced crown None
255 Spruce M 30 0.3 5 5 5 5 Fair Clear brash to 10m.
256 Scots pine M 25 0.5 5 7 8 7 Good None
257 Spruce M 25 0.3 2 3 2 3 Good None
258 Spruce M 30 0.6 6 6 5 5 Good None
259 Scots pine M 25 0.4 4 3 5 4 Fair Clear brash to 10m.
260 Scots pine M 25 0.4 5 4 2 4 Good-branched @ 3m Clear brash to 10m.
261 Oak S/M 10 0.3 5 4 4 5 Good None
262 Scots pine M 20 0.65 8 6 6 4 Fair-branched @ 1mg Clear brash to 10m.
263 Spruce M 30 0.3 3 2 3 2 Fair Clear brash to 10m.
264 Spruce M 30 0.4 3 5 2 5 Fair Clear brash to 10m.
265 Spruce M 30 0.4 1 6 5 4 Poor Clear brash to 10m.
266 Spruce M 30 0.4 4 2 3 5 Fair Clear brash to 10m.
267 Spruce M 30 0.55 2 5 2 5 Good Clear brash to 10m.
## Birch M 7 0.25 1 2 1 4 Fair None
269 Scots pine M 25 0.3 1 2 1 2 Poor-etiolated & sparse crown None
270 Scots pine M 25 0.4 2 1 1 1 Poor-etiolated & sparse crown None
271 Spruce M 20 0.4 5 4 5 6 Fair None
272 Spruce M 6 0.25 2 3 2 3 Poor None
273 Scots pine M 20 0.3 1 2 1 4 Poor Clear brash to 10m.
274 Scots pine M 20 0.7 3 4 3 5 Fair Clear brash to 10m.
275 Spruce M 30 0.2 1 2 1 2 Poor-etiolated & sparse crown Clear brash to 10m.
276 Spruce M 30 0.3 2 3 3 3 Fair Clear brash to 10m.
277 Spruce M 30 0.7 4 5 6 7 Good Clear brash to 10m.
278 Scots pine M 25 0.4 2 2 1 5 Fair Clear brash to 10m.
## Scots pine M 25 0.3 1 1 1 2 Poor-dead branches,etiolated & leaning Fell Yr 1
## Scots pine M / / / / / / Dead None



## Scots pine M 25 0.3 2 2 1 2 Poor-etiolated & sparse crown Fell Yr 1
282 Scots pine M 25 0.5 3 3 2 4 Fair Clear brash to 10m.
## Scots pine M 25 0.15 0 1 0 2 Poor-etiolated & sparse crown Fell Yr 1
## Scots pine M 20 0.25 0 2 0 1 Poor-etiolated & sparse crown Fell Yr 1
285 Birch M 15 0.25 2 5 3 4 Fair None
286 Birch M 15 0.3 3 4 1 5 Fair None
287 Birch M 5 0.2 1 3 1 5 Fair None
288 Birch M 15 0.35 2 4 2 8 Fair None
289 Oak S/M 3 0.2 5 4 3 4 Fair-no leader & crowded by adj' Birch None
290 Birch M 7 0.25 2 3 0 3 Fair-leaning West None
291 Birch M 3 0.25 0 2 0 8 Poor-arched to ground & fungal infection None
## Birch M / / / / / / Dead None
293 Birch M 8 0.2 3 3 2 4 Fair None
294 Birch M 3 0.25 2 1 1 2 Poor-leader snapped None
295 Scots pine M 25 0.35 2 1 1 3 Poor-unbalanced crown Clear brash to 10m.
## Scots pine M 25 0.4 2 1 1 4 Poor-undeveloped crown Fell Yr2
297 Birch M 15 0.3 3 2 1 5 Fair None
298 Birch M 10 0.3 3 2 2 6 Fair None
299 Oak S/M 3 0.15 4 4 2 3 Poor-scrubby Remove split limb top west & dead wood
300 Oak S/M 5 0.45 4 8 3 6 Fair Remove rubbing & crossing branches
301 Birch M 8 0.2 0 1 1 4 Fair-some decay None
302 Birch M 15 0.3 2 4 2 5 Fair-some decay None
## Scots pine M 20 0.3 3 1 2 4 Poor-leaning severely Fell Yr 1
304 Scots pine M 25 0.6 3 4 4 5 Good-bifurcated @ 3m Clear brash to 10m.
305 Scots pine M 25 0.4 2 2 3 3 Fair Clear brash to 10m.
306 Rowan M 4 0.2 0 3 0 4 Fair-suckered growth None
307 Rowan M 4 0.2 0 2 1 2 Fair-suckered growth None
308 Rowan M 4 0.25 1 2 1 3 Fair-suckered growth None
309 Birch M 8 0.25 1 2 1 4 Fair-some decay None
310 Birch M 12 0.4 3 2 2 5 Good None
311 Beech J 4 0.1 3 2 2 3 Fair Remove rubbing Birch branches
312 Birch M 8 0.3 3 2 2 4 Fair None
313 Birch M 3 0.2 1 1 1 1 Poor-leader has been removed None
314 Birch M 10 0.25 3 1 1 4 Fair None
## Birch M / / / / / / Dead None
316 Birch M 8 0.2 2 2 2 2 Fair None



317 Birch M 15 0.3 3 3 1 4 Fair None
318 Birch M 3 0.3 2 0 0 4 Poor-decayed & leaning not a danger None
319 Birch M 15 0.3 3 3 1 4 Fair None
320 Birch M 12 0.2 0 2 1 4 Fair None
321 Birch M 15 0.2 3 1 1 3 Fair None
322 Birch M 15 0.3 1 4 3 5 Fair None
323 Birch M 15 0.4 3 2 1 5 Fair None
324 Birch M 12 0.2 1 1 1 1 Poor None
325 Scots pine M 25 0.35 3 1 1 2 Fair Clear brash to 10m.
326 Scots pine M 25 0.45 2 1 2 4 Fair Clear brash to 10m.
## Scots pine M 25 0.25 1 1 1 1 Poor-undeveloped crown Fell Yr2
328 Scots pine M 25 0.5 2 3 2 4 Good Clear brash to 10m.
## Scots pine M 25 0.35 1 1 1 3 Poor-undeveloped crown Fell Yr2
330 Scots pine M 25 0.45 2 4 2 3 Fair Clear brash to 10m.
331 Scots pine M 25 0.5 2 2 2 6 Poor-unbalanced crown Clear brash to 10m.& lowest west side limb
## Scots pine M 20 0.25 2 0 0 6 Poor-unbalanced crown & leaning Fell Yr 1
 Scots pine M / / / / / / Dead None
## Scots pine M 25 0.25 0 1 0 1 Poor-etiolated & sparse crown Fell Yr 1
## Scots pine M 25 0.25 1 3 0 4 Poor-etiolated & sparse crown Fell Yr 1
## Scots pine M 25 0.5 1 3 1 5 Poor-unbalanced crown Fell Yr 4
## Scots pine M 25 0.3 2 2 1 3 Poor-etiolated & sparse crown Fell Yr 4
338 Scots pine M 25 0.55 4 3 2 5 Fair-trifurcated @ 6m Clear brash to 10m.
## Scots pine M 25 0.3 1 2 0 4 Poor-undeveloped crown Fell Yr 1
340 Scots pine M 25 0.5 4 1 2 5 Poor Clear brash to 10m.
## Scots pine M 25 0.3 5 1 3 1 Poor-etiolated & sparse crown Fell Yr 1
342 Birch M 6 0.2 3 2 1 4 Fair None
343 Oak S/M 4 0.2 3 3 3 3 Fair Remove dead wood & rubbing branches
344 Birch M 3 0.2 4 0 1 2 Fair-scrubby None
345 Birch M 8 0.2 4 0 0 2 Fair None
346 Birch M 8 0.25 6 0 1 5 Fair None
## Scots pine M 20 0.25 3 0 0 2 Poor-undeveloped crown Fell Yr 2
348 Rowan M 5 0.2 4 1 2 4 Good-bifurcated @ base None
349 Birch M 12 0.25 5 0 1 5 Fair None
350 Scots pine M 25 0.4 5 2 2 5 Poor-branched Clear brash to 10m.
## Scots pine M / / / / / / Dead Remove
## Scots pine M 25 0.4 4 3 2 2 Poor-undeveloped crown Fell Yr 4



353 Scots pine M 25 0.4 2 4 3 3 Fair Clear brash to 10m.
354 Scots pine M 25 0.4 2 2 2 3 Fair Clear brash to 10m.
355 Scots pine M 25 0.5 5 2 2 4 Fair Clear brash to 10m.
## Scots pine M / / / / / / Dead Remove
## Scots pine M 25 0.25 0 2 0 2 Poor-etiolated & sparse crown Fell Yr 1
## Scots pine M 25 0.4 3 2 3 2 Fair Clear brash to 10m.
360 Scots pine M 25 0.6 5 2 4 8 Fair Clear brash to 10m.
361 Birch M 15 0.25 6 2 3 2 Fair-leaning north None
362 Beech J 3 0.15 4 4 4 4 Fair-trifurcated @ base None
## Scots pine M 25 0.6 6 2 2 3 Poor-bifurcated & split Fell Yr 1
364 Scots pine M 25 0.35 1 2 1 3 Fair-slight lean to SW Clear brash to 10m.
365 Scots pine M 25 0.45 4 2 2 2 Fair-one sided & branched to n' side Clear brash to 10m.
366 Scots pine M 25 0.45 4 3 3 3 Fair Clear brash to 10m.
367 Oak J 8 0.15 3 3 3 3 Good None
## Scots pine M 20 0.25 5 3 4 1 Poor-unbalanced crown Fell Yr 1
369 Scots pine M 25 0.5 5 3 4 1 Good Clear brash to 10m.
## Scots pine M 20 0.3 3 1 2 2 Poor-etiolated & sparse crown Fell Yr 1
## Scots pine M 20 0.25 2 1 3 1 Fair-secondary leader dead Remove secondary leader
372 Scots pine M 25 0.35 2 1 2 1 Poor-undeveloped crown Clear brash to 10m.
373 Scots pine M 25 0.4 2 2 1 4 Fair-trifurcated @ 2.5m Clear brash to 10m.Remove dead branch
## Scots pine M 25 0.5 3 4 5 6 Fair-bifurcated @ 3m & branched @ 5m Clear brash to 10m.
375 Scots pine M 25 0.35 3 2 2 4 Good Clear brash to 10m.
## Scots pine M / / / / / / Dead Remove
## Scots pine M 25      0.3/0.2 5 0 3 2 Poor-trifurcated @ base & split Fell Yr 1
## Scots pine M 25 0.3 1 1 1 2 Poor-etiolated & sparse crown Fell Yr 1
## Scots pine M 25 0.5 3 8 4 8 Poor-strong SW lean & branched Fell Yr 1
## Scots pine M 25 0.45 2 5 1 84 Poor-bifurcated @ 2.5m Fell Yr 1
## Scots pine M 25 0.25 2 0 2 2 Poor-unbalanced crown & leaning Fell Yr 1
382 Spruce M 30 0.6 6 7 9 7 Good None
## Scots pine M 25 0.2 2 2 2 2 Poor-undeveloped crown Fell Yr 1
## Scots pine M 25 0.3 2 0 0 4 Poor-crown displaced by adj' tree Fell Yr 1
## Spruce M / / / / / / Dead Remove
## Scots pine M 25 0.4 2 1 0 3 Poor-etiolated, sparse crown & bifurcated Fell Yr 1
387 Scots pine M 25 0.4 3 3 1 3 Fair-slight crown imbalance Clear brash to 10m.
388 Scots pine M 25 0.35 3 3 1 3 Good Clear brash to 10m.
## Scots pine M / / / / / / Dead Remove



## Scots pine M / / / / / / Dead & fallen Remove
## Scots pine M 25 0.2 0 2 0 6 Poor-etiolated & severe lean Fell Yr 1
## Scots pine M 25 0.2 1 2 0 2 Poor-etiolated & sparse crown Fell Yr 1
501 Holly M 8 0.25 6 6 4 6 Fair-trifurcated @ base None
502 Birch M 15 0.4 6 8 4 7 Fair None
503 Spruce M 25 0.45 4 6 6 5 Good Clear brash to 10m.
504 Holly M 10 0.4 5 4 3 7 Good Clean out dead wood & rubbing branches
## Birch M 20 0.3 3 4 4 7 Fair Remove overhanging branch w' side
## Scots pine M 25 0.35 3 4 3 5 Poor-die back & fouling adj' Spruce Fell
507 Holly M 5 0.2 3 3 3 6 Fair Remove dead wood
508 Rowan M 7 0.1 2 2 2 3 Good-trifurcated @ base None
509 Rowan M 7 0.1 2 1 2 1 Fair None
## Scots pine M 20 0.2 0 4 2 4 Poor-unbalanced crown Fell
511 Scots pine M 25 0.3 1 3 3 2 Fair-bifurcated @4m Clear brash to 10m.
## Scots pine M 25 0.3 0 2 1 3 Poor-unbalanced crown & crowded out Fell
513 Scots pine M 25 0.3 2 3 2 3 Fair Clear brash to 10m.
514 Birch M 15 0.25 1 54 2 3 Fair-trifurcated @ base None
515 Scots pine M 25 0.35 3 2 1 3 Fair-bifurcated @ 2.5m None
## Scots pine M 10 0.2 0 2 6 0 Poor-etiolated & deformed leader Fell
517 Oak J 8 0.1 3 3 3 3 Good Clear stem to 2m
518 Scots pine M 20 0.4 3 4 4 4 Fair Clear brash to 10m.
## Birch M / / / / / / Dead Remove
520 Birch M 20 0.25 2 1 2 2 Fair None
## Scots pine M 20 0.35 3 0 0 5 Poor-unbalanced crown& dead wood Fell
522 Birch M 20 0.25 2 3 2 4 Fair None
## Scots pine M 20 0.2 1 1 1 1 Poor-undeveloped crown & leaning Fell
## Scots pine M 25 0.3 0 2 2 2 Poor-undeveloped crown & leaning Fell
## Scots pine M 25 0.3 1 3 0 5 Poor-unbalanced crown Fell
526 Birch M 15 0.2 0 3 1 4 Fair-leaning None
527 Spruce M 25 0.45 2 4 4 4 Good None
528 Spruce M 25 0.55 3 6 5 8 Good None
## Spruce M 25 0.35 2 4 5 3 Poor-unbalanced crown & leaning Fell
## Scots pine M 20 0.45 3 5 4 4 Poor-undeveloped crown Fell
531 Scots pine M 20 0.35 3 5 3 4 Fair-branched & open crown None
532 Spruce M 20 0.4 5 7 7 6 Good None




